1 O0Ood
1.1 20000000

gbobooboobobooobooobooboboooboooboobooooooooboooooon
gboooooobooomm

00 1.1 000000000000 0O0[0] 0000000

(1)

(224 3)32 —1) =[0]22 +[0]z +[0]

| =
B EIEE EEE] e .
BEE B BIL e

soa? 4 50— 6= (@x+@) (@H@)

Bl
. —6
(3) o] [B]
i % % 2x2_x—6:<@x+@) <@x+@>
O] [O]
2 -1 —6
(4) O] O]
: % % 6m2+5$_6:<@x+@> (@aH@)
O] [O]
6 5 -6
(5) o] O]
: % % 4x2—13x+10=<@x+@) (@x+@>
o] [o]
4 —13 10

011 0Doobooboobobobooboo



ooooao

20000 1000000000000000000000000000O0O0O0000OA0

00 1.1 (000)

ar’+br+c = (az + p)(az +9)

a e 000 C)
= 0000000 «O0O0000

pXq=ac
sl Dooo
{p+q:b ® 020000

0 1.1 622+7z—3
(6 + 9)(6x — 2)

622 + Tz —3 = 6 (1) 8 @
322 +3)2(3z — 1)
= 35 (2) C)
=2z +3)(3z— 1) (3) 7

00 1.2 00000000000 O00O0O0O0OOO0 (2)00ooooooom
(1) 222 —z—6

(2) 62%2+5x—6

(3) 422 — 13z + 10

(4) 62% —zy — 1292

(5) 10z% — 192y + 63>



1.2 0J0O0O0O0odn

0 1.2 300 f(z)=3z3+8*+2—-200000000

goobg1

p=+—
m

(

n0 4000
mUe0000Om=10000p=n0000

flp)=0000 p0O0O0O000O0O0O0ODOOUOOOOOODOOO
pO00d0O0O0O0 «O0D0OO0OO0ODOOOOODOOOODODOOOO

1 2
p=%l%2,£-, 20000

oo

=1 -

oo

—_]. -

oo

=2 -

oo

—_2 -

oo

=1

=3 —

g

=_1

= 3 —

oo

=2 =
3

RN

=_2

= 3 —

3

3

aj

+8
3
11

+8
-3
5

+8
6
14

+8
—6
2

+8

+1
11
12

flp)y=0000000000OO

-2
12
10

= o

wolu

X

gbooboaboodaoxogoaoo

ocbOOoooon




ggog 2

f(x)DOO0OOD0O 100000 p0000O0O0ODOOOOO a1,b1,; 00000

f(x) = (z — p)(ar2® 4+ bz + ¢1)

obooooooo

2
flx) = 3234822 +2x—-2 = <x+3>(3x2+6$—3)

ggod 3

p000 X 0000aLb,a 0 mOOOOOOOO
m

flz) = (ﬂc - %) (a12? + bz +c1) = (mx—n)(az? + bz + c3)

googoooooo

flz) = <x+§>(3m2+6x—3) = Bz +2)(2?+2x-1)

ggog 4

200 asx? + bz +c, 00000000000D =0 -4ec000000000000
ooog

r?+2x—-10000

D=4-4-1(-1)=8 00O0O0OOOOOOOUOOOOUOO
goo

f(z) = Bz +2)(2* + 22 — 1)
ob 1.3 00000b00o0obobo40000000003

23— 322 — Tz —15
6023 — 3722 — 102 + 3
1223 — 522 +1

2t — 23 — 22 +1

AA,.\A
=~ N}
NN



g
1.1

(22 +3)(3z —1) =622 + Tz — 3
2?2 +52 — 6= (lo +6)(1z — 1)
222 —x — 6= (22 +3)(x —2)
622 + 5z — 6 = (3 — 2)(2z + 3)
4% — 132 + 10 = (42 — 5)(x — 2)

1.2

2z +3)(2z — 4)
2

(62 — 4)(6x + 9)

202 —x— 6= =2z +3)(zx—2)

622 + 51 — 6 = = 3z —2)(2z + 3)
4x — 5)(4x —
42? — 133 +10 = I 51(”3 8 _ x5y z—-2)
622 — zy — 12y% = (62 + 8y)é6a: — %) = (3x + 4y)(2z — 3y)
(102 — 15y)(10z — 4y)

1022 — 19xy + 6% = = (2 — 3y)(bz — 2y)

10
1.3

23 — 322 — Tz —15= (v — 5)(2% + 22 + 3)
602° — 3722 — 102 + 3 = (3z + 1)(42 — 3)(5x — 1)
1223 — 522 + 1= (3z + 1)(42? — 3z + 1)

22 — 23 -2z +1=(z—-1)2z - 1)(2® + 2+ 1)



